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Algebra 2
ID: 1
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Assignment

Sketch the graph of each function.

1)  

  

f (

  

x) = 

  

1
3

 ⋅ 

 

7

  

x

x

y

−6 −4 −2 2 4 6

2

4

6

8

10

12

14

16

18

20

2)  

  

f (

  

x) = 

 

5 ⋅ 

 

2

  

x

x

y

−6 −4 −2 2 4 6

2

4

6

8

10

12

14

16

18

20

3)  

  

f (

  

x) = 

 

4 ⋅ 

 

2

  

x

x

y

−6 −4 −2 2 4 6

2

4

6

8

10

12

14

16

18

20

4)  

  

f (

  

x) = 

  

1
2

 ⋅ 

 

2

  

x

x

y

−6 −4 −2 2 4 6

2

4

6

8

10

12

14

16

18

20

-1-



©p 82Y0v1x34 FKTuatfaG BSbo4fStbwpamrceQ LLmLtCP.l m eAJlOlL GrjingChWt2sV ZrAexsUewrfvJefd6.7 m iMlafdVev 7w6iutChS 9I UnzfwiWnDiUtzei CAFlpgHeVb0r8aG V24.M Worksheet by Kuta Software LLC

5)  

  

f (

  

x) = 

 

3 ⋅ 

 

(

 

1
2)

  

x

x

y

−6 −4 −2 2 4 6

2

4

6

8

10

12

14

16

18

20

6)  

  

f (

  

x) = 

 

2 ⋅ 

 

2

  

x

x

y

−6 −4 −2 2 4 6

2

4

6

8

10

12

14

16

18

20

7)  

  

f (

  

x) = 

 

3 ⋅ 

 

2

  

x

x

y

−6 −4 −2 2 4 6

2

4

6

8

10

12

14

16

18

20

8)  

  

f (

  

x) = 

 

2 ⋅ 

 

(

 

1
2 )

  

x

x

y

−6 −4 −2 2 4 6

2

4

6

8

10

12

14

16

18

20

-2-



©n O2n0Q1P3g kKKuIt3ay PS5ojfLtnw3aMrGeq OLXLdC8.d 1 DAalsly 5rOi5gXhptIsw trTewswe4rDvTexdy.M R DM1a3doe1 FwQivtPhX wI XnCfSiCnXiytSeL 0AKlagzeMbFrdap 12J.B Worksheet by Kuta Software LLC-3-

Answers to Assignment (ID: 1)
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